addazui
Quant Mega Quiz for SSC Tier - 1 (Solutions)

S1. Ans.(c)
Sol.

Total surface area = 6 a?
6a? =600

a=10

diagonal =v3 a
=103

S2. Ans.(c)
Sol.
Volume of sphere

= 27cm
Surface area

4 3

E’R’T‘
- =27cm

lmr

r=581cm

S3. Ans.(c)
Sol.

a®=27+64+125

a® =216

a==6

Surface area of Larger cube = 6 a®
=6x36 =216

Surface area of all the Smaller cubes
=6x9+6x6+6x25

=54 +96 + 150 =300
Ratio=300:216=25:18

S4. Ans.(a) ENGLISH

Sol. S
Volume of Cylinder

SSC CGL

S = o4m TIER-I / PRE E-KIT
3 27

Ace - Advanced | Arithmetic | English
Reasoning | General Awareness

Diameter == X 2 = 3 cm . g4
2 Validity : 6 Months
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S5. Ans.(a)
Sol.

6a? =150

a’ =36

a==6

Diagonal =V3 a
=63

S6. Ans.(c)

Sol.

a®=1

a=1

Surface Area =6 a?
=6x1

=6cm?

S7. Ans.(b)

Sol.

6 a? = 384

a’> = 64

A=8cm

6a? =96

b? =16

b=4cm

Volume Remains same , x =

S8. Ans.(b)
Sol.
Height=1:2

h, =x,h, = 2x
nrihy = nrih,
i _he
'rzz _hl
i
r3

nin=v2:1

S9. Ans.(c)
Sol.

Total Surface area
=2nr (r+h)
880=2x22/7 xrx20
r=7cm

h=13cm

volume = tir’h

22
=7><7><7><13

=2002 cm?

Bx8x8 _
4x4x4
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S10. Ans.(c)

Sol.
mh@i—1r)=nmr*x12
4(1849 - 1.21) =r?x 12

17.28=1r%2x 12
r? =5.76
r=2.4
S11. Ans.(a)
Sol.
Coordinates of P
3x3+2x% 3(—2}+2x%1
3+2 ! 342
= (4,3)
S12. Ans.(d)
Sol.
N (0, 8)
B
Bx + 15y = 120
AN
(15,0)

Point of Intersection at (x, 0)
8x =120

x=15

Point of Intersection at (0, ¥)
15y =120

yv=28

AB=4/(15 - 0)? 4 (8 — 0)2

=225+ 64

=y 289

= 17 units

S13. Ans.(d)
Sol.
3x+4y-5=0

adda
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Let the required equation be
¥y =ms:x+c
my ¥ mp =-1

=—x+c
Y 3

This line passes through (1, 1}

1 4+
==+c

3

-1
c=—

3

4 1

:—x—_
Y 3 3

Jy=4x—1
4x-3y-1=0

S14. Ans.(b)
Sol.
2x-5vy+3=0
-S5y=-2x-3
Sy =2x+3

2 3

}F=Ex+§

my = =

5

Let the equation of line be
Y=mzx+cC
m; = m; (when two lines are ||]

. 2
m- ==
5

}r—5x c

This line passes through (5, 3)

3=2+c

c=1

Equation of line BILINGUAL

=2x41
}’—535

%3y +5=0 Adda Prime
S15. Ans.(d) Test PaCk

Sol.

Xx+2y=3.... i Bank | SSC | Railways
5% +§ = —12......di

Fromi & ii 2200+ Total Tests
x=-3,y=3 12 Months Validity
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Coordinates of P[-3, 3]
Similarly, Q(1, 1), R(1, -1) & S(-2, 2)

_=1=3 _
my, Slope of PR = T 1
mz,SlcpeofSQ=:z:j=1

my * mz = —1 { When Two line are perpendicular }
B8 =90°

S16. Ans.(a)
Sol.
A= F(1+%)(1 +% (1+-2=

100
— 2500 X 103 % 26 » 21
B 100~ 25 20
=2811.90

C.l.=2811.90 - 2500
=311.90Rs.

S17. Ans.(a)
Sol.

Compounded half yearly
Rate=§%, Time=2=2=4

4

16P = P(1 +2xrm)

2t =(1+ ;ﬁ)4
r = 2000

t

200
27P = F(l +ﬁ)
27 = (3)¢

(3 =(3)

Time = 3 years
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S18. Ans.(d)

Sol.
Cer _of R
CL=SL=P (m)
R 2
147 = 3-:](]0[:-(—)
100
49 _( R )2
10000 \100
7 R
100 100
R =70
S19. Ans.(b)
Sol.

Interest — For 15 year — S.I.

For 2md year — S.L + A

For3*dyear > SIL+A+A+B

Difference of C.I. & 5.1. for 2 years = A
Difference of C.I. & S.1. for 3 years = 3A+ B
A:3A+B=4:13

A=4

B=1

B
Rate % = E x 100

1
=E>-C 100 = 25%

S20. Ans.(c)
Sol.

ATQ,
447 447

14— 5(1 —)
“( +1m}) * 100

b—(1+4) 1
arv= 100/ °

=(26)°: (25)°
=676 : 625
a+b=39030

a=39030 x -2

1301
=30 =676
= 20280
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S21. Ans.(a)
Sol.

240 km

80 km
—

Let speeds of car be Vq, V2 & V3

AB AB AB AB

———=——-— ..
Vi Vu VWV ®
240 240 )
- = e (11

1 EN 1

In BC car 1 travels 160 km before meeting Car 3 & Car 3 travels
320 km before meeting car 1

320 160
e vg = 2\-’1 _=_]
Vs Vi
From equation (i)
1 1 1 1
v, V, V, 2V,
1,1 1.1
v, 2V, Vo, W,
3 2 2
v, _vﬁ'vz 3\-’1
From (ii)
ﬂ_iﬂ: 1,228 10—y
vy V1 Vi Vi
Vi=60

Va=2=xV3=2=260=120
Difference = 120 - 60 = 60

S22. Ans.(b)
Sol.
4/5 speed
g2 45 minute
De}hi 30 km | late Gur.gaon
' : 4/5 speed
1% 48 km > 36 minutes late
i i Gurgaon
Delhi 18 km urg
18 km travelled with gspeed - 18 km travelled with usual speed = 45 - 36
18 18 _ 9
4 s 60
ES
5—4 9
18(——) = —
45 60
18X1 9
4s 60
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s=30km/hr

d=30=x=T addaz2y1 Adaa-ﬁ
T=d/30

d—30 45
@-30) __

30 (daf};ﬂ% ) :U 100+ SSB CGL
T 15 TIER-1 / PRELIMS

d=120km Previous Years' Papers &
Mock Tests Practice Book

English Medium

S23. Ans.(d)
S l Latest Edition Includes:

0 ° ® 18 Previous Year's Papers 2019 12]95902.‘-
Let t]le distance be X mi]es_ ® 21 Previous Year's Papers 2018 with De_tailed

® 25 Previous Year’s Papers 2017 Solutions

When Tom meets Jerry © 22 Previous Year's Papers 2016

. ® 15 Mock Tests of SSC CGL Tier-1
distance travelled by Tom=x+9 Bt i Latiac Paam £

. . — @ Detailed Soluti f Quant, 5
distance travelled by Jerry=x -9 e e
Xx+9 x—9 x+9 ® Also Useful for SSC CPO, CHSL, Last Four Years

T

_— = _—= — MTS & Other Exams

T ] "] x-9

When Jerry meets Bill.
Distance travelled by Jerry=x+ 7

Distance travelled by Bill=x -7
x47 _ x=7 ] _ x47

T 5

B 3
r.t_2
JB 3
(x+9) x+7y 5
(x—Q}X( —7)_3

S5x-9)(x-7)=3x+9)(x+7)
5x% - 80x + 315 =3x% + 48x + 189
2x% - 128x+126=0

¥ -64x+63=0

x=63orl

X =63

S24. Ans.(c)
Sol.

Ratio of distance covered by second train to firsttrain=125:1=5: 4
Time is same

So, ratio of speeds=5:4

Speed of second train = 40 = 4E= 50 km/hr

Distance covered by 1% train in half an hour = 20 km
Let 3% train takes ‘t' hours to overtake 1t train & speed of 3% train — x km/hr

t= ..(ii)
Distance covered by 2% train in half an hour = 25 km
325 .
2 x-50 -®
From (i} & (ii)
x =60 km/hr
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S25. Ans.(b)
Sol.
Total distance travelled by both the trains before meeting =D

This distance will be covered in proportion of their speeds.
3 hours after meeting distance travelled by

A=3xS,
B=3=x 54
3S, + 35 = 675
SA + SB = 225
Remaining distance to be covered by 15 train = D58
Satse
DSg
Time taken = ———— =16 e (1)
(Sa + S8)Sa
Remaining Distance covered by second train= 254
(5p+3Eg)
Time taken = ——% = 25 ... (ii)
(Sa+5piSA

Dividing (i} by (ii)
Si 25
Sz 16

5 4
SA = ESB !S.ﬁ. +ESA = 225
S, =125
Sg = 100
From (i)

Time = — = 16 X —=36 h
Sa 100

S26. Ans.(b)
Sol.
——y C
Q
X 3x

Speed of Bus -+ b
Speed of Man -+ m
When the bus goes from P to A, the man goesfrom Cto A

Time taken by both are equal
v X

L (1)

m1 X
When Bus goes from P to B, the man goes from C to B,

Again time taken by both are equal.
y+x+3x  3x

b m
b y+x+3x

m 3x

(2)
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From [1) & (2)
y 4dx+ty

x  3x
Jv=4x+y
2y =4x

yv=2x

From (1)

b 2x

m x
b=2m

S27. Ans.(a)
Sol.

SpeedofcarA=a

SpeedofcarB=hb

Let they meet after t minutes.

Distance travelled by car A before meetingcarB=axt
Distance travelled by car B before meetingcarA=b =t
Distance travelled by car A after meeting car B=54a
Distance travelled by car B after meeting car A=24 b
Distance travelled by car A after crossing car B

= Distance travelled by car B before crossing car A (vice versa)
at=54b (1]

bt=24a (2]

Multiplying (1) & (2]

abt® =54 x 24 x ab

t* =54 x 24

t = 36 minutes

Both cars travelled 36 minutes before meeting

Time taken By B = 24 + 36 = 60 minutes.

S28. Ans.(a)

Sol.

Train Car

240 210 =8h 40 min.

180 270 =9h

To travel extra 60 km by car increase in time = 20 min

So, travel extra 240 km by car increase in time = 80 min
~450kmbycarin=8h 40 min+ 80 min=10h
Speed of car =450/10 =45 km/h

S29. Ans.(d)
Sol.

Let length — x meters
speed of B — y kmph
x + 500

TEty
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27 _ x+05

36500 63 +v
162 x+05

3600 (36 — )

(1)
-(2)

Form (1) & (2]
2L x(63+y) = —X (63 —y)

3600

162
3600

63 +y =6 (63-y)

63+y=378-

7y =315
v =45 km

6y

27 _x+ﬂ.5

3600 108
0.81=x+ 0.5

¥x=031km=310m

S30. Ans.(b)
Sol.

D D _
x—15 = 45
D D
x xrm 20

Form (1) & (2)

We will get D =

(1)
-(2)

9750 km.

TEST SERIES 2

BILINGUAL

3
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PRIME

500+ TOTAL TESTS
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